
Exhaust Fan.

Guy Lines.
Double Stack WBE.

1

3

Exhaust Fan.

Discharge Away
From Intakes & Windows.

45 Elbow WBE
Used To Direct

2

8

8

5

Must be Installed.

6

PN#97-60-320-11 / AX#A0006664
Bead & Other WBE Angle Rings.
Secure The WBE To The Apron

Hardware, Hardware

Large Draw Latch Used To

Large Draw Latch
Ships With Locking

7

Are Recommended.
Guy Lines By Other

Are Used Eye Bolts & Guy Lines
When Multiple Extensions

Eye Bolts Are Ordered As Needed
Or By Other.

PN#9489T170 / AX#A0017709

1

8

Apron Bead.

Silver Silcone.
By Other

Exhaust Fan.

Are Sealed Using

Single Stack WBE.

5

3
All Connections

NOTES:

SEE BOLD TEXT FOR ASSEMBLY PART NUMBERS STRAIGHT & 45 DEGREE EXTENSIONS.1.

SEE FAN MODEL NUMBERS WHEN SELECTING EXTENSIONS.2.

Up Blast - Wind Band Extension 
Secure The WBE

Angle Ring To The 
Fan Apron Using

Self Drilling Screws.
PN#800023B / AX#A0005676

EYE BOLT PART NUMBERS:

INCLUDE EYE BOLTS, NUTS, WASHERS

EYEBOLTS-3

EYEBOLTS-4

EYEBOLTS-5

EYEBOLTS-7

Item # Description Of Part WBE-10-36 # WBE-11-36 / WBE-11-45-DEGREE # WBE-13-36 / WBE-13-45-DEGREE # WBE-15-36 / WBE-15-45-DEGREE #

1 Windband Extension - 36" Tall F2161012WBE-36-S (A0025344) 1 F2161011WBE-36-S (A0025373) 1 F2161013WBE-36-S (A0025346) 1 F2161015WBE-36-S (A0025348) 1

2 45 Degree Extension F2161011WBE-45-S (A0029255) 1 F2161013WBE-45-S (A0029015) 1 F2161015WBE-45-S (A0029013) 1

3 Angle Ring F2370012 (A0004889) 2 F2370011 (A0004885) 2 F2370013 (A0004886) 2 F2370015 (A0004887) 2

4 3/16" Rivet (Not Shown) SB6-4-RIVET (A0017041) 21 SB6-4-RIVET (A0017041) 21 SB6-4-RIVET (A0017041) 21 SB6-4-RIVET (A0017041) 21

5 Large Draw Latch 97-60-320-11 (A0006664) 3 97-60-320-11 (A0006664) 3 97-60-320-11 (A0006664) 3 97-60-320-11 (A0006664) 3

6 Bolt Whiz 3/8"-16 x 1 1/2" Grade 5 92323A558 (A0005703) 3 92323A558 (A0005703) 3 92323A558 (A0005703) 3 92323A558 (A0005703) 3

7 Nut Whiz 3/8"-16 Grade 5 99904A103 (A0005688) 3 99904A103 (A0005688) 3 99904A103 (A0005688) 3 99904A103 (A0005688) 3

8 Self Drilling Screws 1/4"-14 x 1 1/4" 800023B (A0005676) 10 800023B (A0005676) 10 800023B (A0005676) 10 800023B (A0005676) 10

Item # Description Of Part WBE-18/20-24 / WBE-18/20-45-DEGREE # WBE-24-24 / WBE-24-45-DEGREE # WBE-30-24 / WBE-30-45-DEGREE # WBE-36-24 / WBE-36-45-DEGREE #

1 Windband Extension - 24"Tall F2161020WBE-S (A0025351) 1 F2161024WBE-S (A0025352) 1 F2161030WBE-S (A0025353) 1 F2161036WBE-S (A0025354) 2

2 45 Degree Extension F216101820WBE-45-S (A0028156) 1 F2161024WBE-45-S (A0029016) 1 F2161030WBE-45-S (A0029256) 1 F2161036WBE-45-S (A0029257) 1

3 Angle Ring F2370020 (A0004711) 2 F2370024 (A0004714) 2 F2370030 (A0004734) 2 F2370036 (A0004917) 2

4 3/16" Rivet (Not Shown) SB6-4-RIVET (A0017041) 25 SB6-4-RIVET (A0017041) 25 SB6-4-RIVET (A0017041) 26 SB6-4-RIVET (A0017041) 42

5 Large Draw Latch 97-60-320-11 (A0006664) 4 97-60-320-11 (A0006664) 4 97-60-320-11 (A0006664) 4 97-60-320-11 (A0006664) 5

6 Bolt Whiz 3/8"-16 x 1 1/2" Grade 5 92323A558 (A0005703) 4 92323A558 (A0005703) 4 92323A558 (A0005703) 4 92323A558 (A0005703) 5

7 Nut Whiz 3/8"-16 Grade 5 99904A103 (A0005688) 4 99904A103 (A0005688) 4 99904A103 (A0005688) 4 99904A103 (A0005688) 5

8 Self Drilling Screws 1/4"-14 x 1 1/4" 800023B (A0005676) 10 800023B (A0005676) 10 800023B (A0005676) 10 800023B (A0005676) 10

BDU18/20, 18/20HP, NCA16/18, 16/18HP, DU180/200 BDU24, 24HP, NCA24, 24HP, DU240 BDU30, 30HP, NCA30, 30HP, DU300 BDU36, 36HP, NCA36, 36HP, DU360

DU12HFA BDU11, 11HP, NCA8, 8HP, DU30, DU33 BDU13, 13HP, NCA10, 10HP, DU50 BDU15, 15HP, NCA14, 14HP, DU85

N/A


